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A—1 0. 0368 = 0. 254 0.0093
A—2 0. 0688 = 0. 254 0.0175
B~ 1 0. 0688 — 0. 439 0. 0302
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A—1 0. 0510 = 0.073 0. 0037
A— 0. 0990 = 0.073 0.0072
B~ | 0. 1170 e 0.084 0. 0098
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A— | 0. 0744 — 0. 214 0. 0159
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A-1 0. 0960 - 0. 196 0.0188
A— 2 0.0704 — 0. 196 0.0138
B—1 0.0624 = 0.116 0.0072
B— 2 0.0720 — 0.116 0. 0084
cC—1 0. 0656 — 0. 054 0. 0035
c—2 0. 0576 = 0. 054 0. 0031
D— 1 0. 0576 = 0.014 0.0008
D— 2 0. 0544 — 0.014 0. 0008
E— 1 0.0416 — 0. 060 0.0025
E— 2 0.0176 = 0. 060 0.0010
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A—1 0. 0600 = 0.018 0.0011
A— 0.0625 = 0.018 0. 0011
B—1 0. 0500 = 0.028 0.0014
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A-1 0.0720 = 0. 045 0.0032
A— 2 0.0788 — 0. 045 0. 0035
B—1 0. 0788 = 0. 075 0. 0059
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